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Model 4


Keynesian/Neo-Classical Synthesis


Goods, Asset, and Labor Markets


Goods and Asset Markets


(See Model 3 for details)

1. IS Curve (goods demand) - replace Y with AD



AD = a - b*t0 + e - (d+n)*r + g + G




1 - b*(1-t1) + m

2. LM Curve (asset market equilibrium) - replace Y with AD



r = (k/h)*AD - (1/h)*(M/P)

plug 2 into 1 to yield the Aggregate Demand Curve


AD:
AD = a - b*t0 + e + (d+n)/h*(M/P) + g + G



 1 - b*(1-t1) + m + (d+n)*(k/h)

Note: As P increases, M/P decreases which implies that AD falls.

Exogenous variables which shift AD: a, t0, e, g, G; M and t1 both affect the slope, and t1 also affects the position of the AD curve.


Labor Market and Production






Sticky Wage Version

The labor market in Model 4 modifies that presented in Model 1.  In the first version, the sticky wage model, the key differences are: W is exogenous, and the stopping point no longer occurs at the market-clearing position.  The quantity hired comes from the labor demand curve.

3. Labor Demand

Ld = LD(W/P,K,Tech,RM)

This is an inverted version of equation (1) in Model 1; the signs are the same as posited there.

4. Labor Supply

Ls = LS(W/Pe) - equation (2) of Model 1 - with Pe instead of P

5. Unemployment Rate
U = Ls - Ld
+ U*






 Ls


This replaces the market clearing condition (3) of Model 1 and U* = natural rate of U.

6. Production Function
Y = F(Ld,K,Tech,RM) - equation (4) of Model 1

When equation (3) is inserted into (6) the aggregate supply curve results.


AS:
Y = G(W/P,K,Tech,RM) where G incorporates F(Ld,K,Tech,RM)

To simplify, we can write a linear version of the AS curve:


Y = s0 - s1*(W/P) + s2*K + s3*Tech + s4*RM

Along the AS Curve, as P increases, W/P declines, so Y increases.

AS Curve shift factors are: K, Tech,RM, ; changes in W affect the slope.

7. Goods Market Equilibrium

Y = AD


Endogenous Variables


Exogenous Variables

AD,Y,r,P,Ld,Ls,U



a,t0,t1,e,g,G,M,Pe,U*








W,K,Tech,RM

Equations 3 - 5 can be used to generate a Phillips curve.


U = LS(W/Pe) - LD(W/P,K,Tech,RM) + U*




LS(W/Pe)

More generally, we can write the equation as


U = PC(W/P,K,Tech,RM,Pe,U*)

As P increases, W/P falls so U falls.

Note:  We can also posit Okun's Law for this model as


2*(U* - U) = (Y - Y*)/Y* = GDP Gap

For U = U* (between 5% to 6%), Y = Y*, full employment GDP





Labor Market





Misperceptions Version
In this version, market clearing is again achieved; however, prices need not equal expected prices.


Ld = LD(W/P,K,Tech,RM) and Ls = LS[(W/P),(P/Pe)] but now
Ld = Ls.

As P/Pe changes so does the position of the labor supply curve.  The AS curve is derived in the same way, but the result differs slightly.  

Now 
Y = s0 + s2*K + s3*Tech + s4*RM + s5*(P/Pe)

W no longer enters the aggregate supply curve, but P/Pe generates the same effects as W/P did in the sticky wage version.
